
Quiz and Questions: 

 

1. What is the aim of Just-in-Time (JIT) inventory management? 

o a) To rise inventory levels 

o b) To receive goods only when needed  

o c) To store extra inventory 

o d) To decrease transportation costs 

o Answer: b) To receive goods only when needed  

 

2. Why is warehousing a critical element of logistics? 

o a) It decreases the need for transportation 

o b) It delivers storage solutions for goods until needed 

o c) It increases production costs 

o d) It facilitates customer service 

o Answer: b) It offers storage solutions for goods until needed 

3. What are the key modes of transportation in logistics? 

o a) Road, rail, air, and sea 

o b) Road, air, and bicycle 

o c) Rail, sea, and drones 

o d) Sea, air, and walking 

o Answer: a) Road, rail, air, and sea 

 


